N = 0l & AF & F Al A
2009 = =0 AF 2B
2N SENMD
o BO| YE sESY E4
S SYUASSHE A8 DB EY (St5: & 2)
RA B SA(BH) - NRAY - B 01 e HRE2
SEn 4,381,563 4,055,219 306,344
2 303,373
2 100,000
| 340,658
= 128,945
& 582,573
Al 2,906,014
20| Y= 528 x4 4,164,011 3,791,902 372,109
2 303,373
2 100,000
o] 340,658
= 128,945
= 582,573
Al 2,688,462
SHUASEHE 9B JIBEH 774,759 681,622 93,137
= 82,392
Al 692,367
W 228Y HA 40,000 40,000 0
401 AlEHI L2 18,000 30,000 £12,000
01 AlZH] 8,000 30,000 212,000
OHAMRNE 5BRS2 LA 5,000,000%! 5,000
OL® W - eIl AISZ2 #If  3,000,0008 3,000
OHSMHAIL B4TA 10,000, 0002 10,000
405 RrArESH) 22,000 0 22,000
01 MMUSEBFHSY] 22,000 0 22,000
o4 - eIl Y 15,000, 0002! 15,000
=D 2Y 7,000,0002! 7,000
SUSENH X2 94,759 91,622 3,137
201 L2yl 54,400 53,350 1,050
01 AR el 25,400 22,900 2,500
CHEES=11 17,000,0002! 17,000
CEEERS 6,400,00024 6,400
CEET 2,000,0002! 2,000




SA
X XH .
(=

chel:

= o MuE o
SA-EFH - HAAH) - N - BES &hoh Ol AF o8 BlusZ
02 ZZ2YH| 29,000 30,450 A1,450
OZZLILHAl 7,000,0002 7,000
OA & ZHIR I 10,000,0002! 10,000
Ot Bl 2,000, 0002 12,000
202 OiHl 28,359 28,272 87
01 =Uhotdl 28,350 28,272 87
CETIESVE] 28,359, 0002 28,359
203 REH| 10,000 7,000 3,000
03 ANHETYRE 10,000 7,000 3,000
OsYOITHH 43 3,000,0002 3,000
OSIAY o= 3.000,0002! 3,000
CEEENEE ] &
2,000,0002! 2,000
osgmEolY o ez
2,000,0002! 2,000
301 Yereaa 2,000 3,000 A1,000
10 BAAHIZAS 2,000 3,000 A1,000
OFTAS & 2 &3 o
2,000,0002! 2,000
SEAMS SHBA 180,000 150,000 30,000
307 BI2H0IH 180,000 150,000 30,000
04 BIASALEE 180,000 150,000 30,000
OAEAl SE0IY SHBA XY
180,000,0002! 180,000
IMES I | 10,000 10,000 0
301 Yer=aa 10,000 10,000 0
12 JIEtR A3 10,000 10,000 0
OOIMSE oI IIaH X 10,000,0002! 10,000
SIS RIPVERE DUV 450,000 390,000 60,000
= 82,392
Al 367,608
307 BI2HOIH 450,000 390,000 60,000
= 82,392
Al 367,608
02 Sl2rFAER 450,000 390,000 60,000




A sS4t
T Bo| Ut =E8E X4
Ol SUASEHE 9B JIBEY M)
A - HE - S9I(E) - NRAY - BYS e 2
Osgelity stkt=2 X 450,000,000 450,000
& 82,392
Al 367,608
EPNIERS) 13,300 29,200 A 15,900
Il 4,320
Al 8,980
sN2e?ds2G K& 10,800 11,700 A 900
p) 4,320
Al 6,480
201 BH2EH] 7,700 7,700 0
| 3,080
Al 4,620
01 AR 2&cldl 7,700 7,700 0
OsXzel?de 23 7,700,000& 7,700
| 3,080
Al 4,620
202 Od4Hl 3,100 4,000 A 900
Il 1,240
Al 1,860
01 3L 3,100 4,000 A900
OsXZZRAds 2 3,100,000& 3,100
J| 1,240
Al 1,860
e s&& z2tel 2,500 17,500 215,000
301 ptsazg 2,500 2,500 0
10 BAIAHIEAS 2,500 2,500 0
OSNBRUARS DT HAL MHEA
2,500,000& 2,500
dEZolgery 1,172,453 934,614 237,839
= 268,323
s 100,000
&2 46,553
= 221,526
Al 536,051
M=sZEXHE0lsxd 200,000 9,000 191,000




SN E5EMD
HE: B0 A= SESHY X4
el =l ols oty LR
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
=MsENEExY s 100,000
& 50,000
Al 50,000
402 QIEGE01M 200,000 0 200,000
s 100,000
L= 50,000
Al 50,000
01 QtR=8=x 200,000 0 200,000
O=sM=ZME0ts =4 200,000,000 200,000
s 100,000
= 50,000
Al 50,000
ste<0l XA 33,600 25,200 8,400
= 14,000
= 4,200
Al 15,400
307 QI2t0IA 33,600 25,200 8,400
= 14,000
& 4,200
Al 15,400
02 gltFaeEx 33,600 25,200 8,400
OsJtE<0l A& 33,600,000 33,600
& 14,000
= 4,200
Al 15,400
SEMEOE MRE HE XI&E 12,960 21,600 28,640
= 7,200
= 2,160
Al 3,600
307 QI2t0IA 12,960 21,600 A8,640
= 7,200
= 2,160
Al 3,600
02 QtFAE X 12,960 21,600 28,640
Os4&E MEMSMRE HE XIZ
12,960,000& 12,960
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FAM: sS4
g B0l Y= sESE 24
el =l ols oty (oA
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
= 7,200
& 2,160
Al 3,600
sgel R0t 2=Hl XA 460,506 350,000 110,506
= 230,253
= 92,101
Al 138, 152
307 gQiz2tol™ 460,506 350,000 110,506
= 230,253
= 92,101
Al 138, 152
02 BltFAE=X 460,506 350,000 110,506
O=g¢el d0t L=H XA (4,200¥)
460,506,000& 460,506
= 230,253
& 92,101
Al 138, 152
SH=sge FREZFEXN B2 38,512 38,190 322
& 7,704
Al 30,808
307 glz2told 38,512 38,190 322
& 7,704
Al 30,808
02 SltAAExX 38,512 38,190 322
O SEFDI 23 (479%)
38,512,000& 38,512
& 7,704
Al 30,808
=40 Mol AHEBHE XA 76,185 62,654 13,531
& 31,354
Al 44,831
307 2IZ2t0lA 76,185 62,654 13,531
= 31,354
Al 44,831
02 gltFaE=x 76,185 62,654 13,531
O=QoIeH AHBHE XY 76,185,000 76,185




FAM: sS4
g B0l Y= sESE 24
el =l ols oty (oA
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
= 31,354
Al 44,831
sE32 SMEE N 30,000 40,000 210,000
& 5,400
Al 24,600
307 QI2t0IA 30,000 40,000 210,000
& 5,400
Al 24,600
02 QUAFAEX 30,000 40,000 210,000
O=&N=F g 2o A XA (3Y)
18,000,000& 18,000
= 5,400
Al 12,600
O=s=32 ZIIEWI XA 12,000,000& 12,000
HEsgeldH 23 114,690 75,622 39,068
= 19,010
& 13,492
Al 82,188
307 glz2told 114,690 75,622 39,068
= 19,010
& 13,492
Al 82,188
02 QItFAE X 114,690 75,622 39,068
OW&E=geldyH 22 114,690, 000& 114,690
= 19,010
= 13,492
Al 82,188
s AN 22,000 5,000 17,000
= 15,400
& 6,600
307 gQiz2tolA 22,000 5,000 17,000
= 15,400
L= 6,600
02 QItFAE X 22,000 5,000 17,000
OBHSLO SHANY(HYS SAAM)
22,000,000& 22,000
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SN EEAD

[>T
HE: B0l U= SEHY X4
= (]

CHel: mESoIor (B9l &)
= o MuE o
SN -ZH A (ZH) - MFAY - BES O AF K Ol AF o8 Hlws2
ETNERE] 4,800 5,400 600
OSEHAE NF(EY - T) HAT Ay
2a 2,000,000 2,000
O=EHAE NCHLEY AT AHI2
o 1,200,000 1,200
O4HES ZY. & HAT ABSA
400,0002 400
O4-H3I 2 OFSTHEl 2 212 Al - 2 DR
Ab BT AlHI A 1,200,000 1,200
308 XX SHHSOIH 7,000 7,000 0
= 6,771
Al 229
06 DSIIZUHEZES 7,000 7,000 0
O3t D4-HEIR 0| BHES X2
7,000,000 7,000
= 6,771
Al 229
402 QK20 7,000 7,000 0
2 6,772
Al 228
01 QIANEDZE 7,000 7,000 0
OYS4HSIR AlYSYs DRES N
7,000,000 7,000
= 6,772
Al 228
T sol Sl 84 50,000 35,000 15,000
301 YHBAR 50,000 35,000 15,000
07 oIzrol=2l0fH] 50,000 35,000 15,000
OHE =2 01204 ] 50,000,0002 50,000
Old =0 S 14,500 32,000 A17,500
206 Mzl 4,000 4,000 0
01 M=l 4,000 4,000 0
O0l&=0 N ALWE 2
4,000,000 4,000
01 YsRAS 4,500 10,500 A6,000
10 BAAHIRAS 4,500 10,500 6,000
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2M: A
2Rt s =EHY XA
o9l SAMAMRALG ool J 2l
HH . (3 H) - MBEAY - B Ao gggf; HRS2
307 QI2H0|H Al 14,780
QIZHEAE R 21,114 17,424 3,690
OFRMMRSHIE =2 21,114,000 21,114
< 6,334
Al 14,780
SR XMelAld X3 43,700 451,200 407,500
= 20, 100
= 7,080
Al 16,520
402 QI2HX =0l 43,700 451,200 A407,500
= 20, 100
= 7,080
Al 16,520
QI 28 X 43,700 451,200 407,500
OJIE2L HMelAld X (BHA)
43,700,000& 43,700
= 20,100
< 7,080
Al 16,520
=0 =4 BX 59,616 0 59,616
== 23,040
Al 36,576
301 LBt A= 59,616 0 59,616
= 23,040
Al 36,576
12 JIEIEAZ= 59,616 0 59,616
os=x2 =% 59,616,000 59,616
T 23,040
Al 36,576
R=A 164,340 165,645 A 1,305
| 115,038
= 16,434
Al 32,868
307 QIZtolA 164,340 165,645 A 1,305
J| 115,038
= 16,434
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2N SEMD
Hy: BO| Y= SEHY X4
ol B P YAL S Rk
A HH . CR(S) - NRAY - BHLS Ofl AF o4 glggf; HRE2
307 glz2told Al 32,868
02 plztFaEx 164,340 165,645 A 1,305
ostneRI4 X 164,340,000} 164,340
p) 115,038
= 16,434
Al 32,868
=ML ES A=l 66,500 41,840 24,660
2 19,950
= 19,950
A 26,600
201 ZEH2IH] 66,500 41,840 24,660
= 19,950
& 19,950
Al 26,600
01 AtR2cldl 66,500 41,840 24,660
G EE-EINE 6,290,000%! 6,290
= 1,950
= 1,950
Al 2,390
o=ZHa WY 2HY 60,210,002 60,210
= 18,000
= 18,000
Al 24,210
BEEN SMII= AEAMZ 15,000 0 15,000
2 15,000
402 QI2HE01M 15,000 0 15,000
= 15,000
01 QtR=8x 15,000 0 15,000
OXN=E2LHMel a8 (11L)
15,000,000& 15,000
= 15,000
Sots0F AHYA e 24,600 21,900 2,700
= 12,300
Al 12,300
402 2It=01M 24,600 21,900 2,700
= 12,300




2N SEMD
B BO| s sEHZ I4
ol B P YAL S (SHol:®el)
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 gggf; HRE2
402 BIZ2HX =0l Al 12,300
01 QtR=8=x 24,600 21,900 2,700
OF4&tsIt AHYX N 24,600,000 24,600
= 12,300
Al 12,300
NE2e =2 E2M XA 24,560 23,360 1,200
= 12,280
Al 12,280
402 2IHX=01H 24,560 23,360 1,200
= 2,280
Al 12,280
01 QR=Ex 24,560 23,360 1,200
ON=EER 2L E2M XN& 24,560,000 24,560
< 12,280
Al 12,280
SAAIE BFH A 13,650 5,670 7,980
= 6,825
Al 6,825
402 2IHX=01M 13,650 5,670 7,980
= 6,825
Al 6,825
01 QUAR=2EX 13,650 5,670 7,980
OFAIAIE SEoHd 13,650,000& 13,650
< 6,825
Al 6,825
BRI ALY 27,000 14,400 12,600
= 4,050
Al 22,950
307 QI2t0IA 27,000 14,400 12,600
= 4,050
Al 22,950
00 QIANFHBE 27,000 14,400 2,600
O RIHEALS 27,000,000& 27,000
= 4,050
Al 22,950




SN EEAD

[>T
Hy: BO| Y= SEHY X4
i/ll'. JF

o9l SAMAMRALG (et9l: &2
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
StRSEAMY 12,600 10,240 2,360
& 3,780
Al 8,820

307 QIt0IA 12,600 10,240 2,360
= 3,780
Al 8,820

02 QtFAE X 12,600 10,240 2,360
O FSEAY 12,600,000& 12,600
= 3,780
Al 8,820

St HAALY 15,000 9,400 5,600
= 3,000
Al 12,000

307 QIZt0IA 15,000 9,400 5,600
& 3,000
Al 12,000

02 QtFAE X 15,000 9,400 5,600
Ot 2HAMAL 15,000,000& 15,000
< 3,000
Al 12,000

S XEAS 24,000 24,000 0
o= 9,600
Al 14,400

307 glz2told 24,000 24,000 0
& 9,600
Al 14,400

02 fltFaeEx 24,000 24,000 0
OY=dmn X& 24,000,000 24,000
< 9,600
Al 14,400

A2EANE XA 13,500 13,500 0
L= 5,400
Al 8,100

402 QIEXE01M 13,500 13,500 0
& 5,400




SA
X XH .
(=

chel:

S=43
B0l = sE#Z =4
EREEEEE

SN HB - S(BH) - NRAY - BAS 0 & 24 e SImE=ET

402 QIEXE01 M Al 8,100

01 BIZAR=Ex 13,500 13,500 0
OAS=AE EXIXE 13,500, 000& 13,500
= 5,400
Al 8,100

QRAL2d Za A=A 5,600 5,600 0
Il 3,200
= 1,200
Al 1,200

307 gI2tol& 5,600 5,600 0
Il 3,200
= 1,200
Al 1,200

02 2ItFa=2x 5,600 5,600 0
OHNAEH H&t NEAMY 5,600,000& 5,600
p) 3,200
= 1,200
Al 1,200

IIESHALY 24,582 0 24,582
< 9,843
Al 14,739

307 QI2toIH 24,582 0 24,582
= 9,843
Al 14,739

02 2tAa=2x 24,582 0 24,582
OIES AL 24,582,000 24,582
= 9,843
Al 14,739

d3=s0t A =Atg 2l XI&A 44,940 0 44,940
S 13,260
Al 31,680

402 QIEXE01M 44,940 0 44,940
< 13,260
Al 31,680

01 BlIZtR=2Ex 44,940 0 44,940




FAM: sS4
BH: BO| U SEHF X4
CHol: & A2 TR 2 s (£r9): & 2
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
O&dE=IF A AR F#Ldl K&
44.,940,000& 44,940
= 13,260
Al 31,680
TAE MArEH K& 114,800 0 114,800
L= 56,560
Al 58,240
402 SIZ2HX =0l 114,800 0 114,800
& 56,560
Al 58,240
01 QtR=8=x 114,800 0 114,800
OEH X2 (50H) 112,000, 000& 112,000
& 56,000
Al 56,000
OtA=320F XI&(1CH) 2,800,000& 2,800
& 560
Al 2,240
d58els AtdelXl H=dl X2 52,000 0 52,000
= 11,101
Al 40,899
402 QIEXE01H 52,000 0 52,000
L= 11,101
Al 40,899
01 QtR=Ex 52,000 0 52,000
O&EelsS AtgelXl M=l X&
52,000,000 52,000
& 11,101
Al 40,899
IAME A HHIXZ 98,240 0 98,240
& 22,495
Al 75,745
402 QIEXE01H 98,240 0 98,240
& 22,495
Al 75,745
01 QtR=Ex 98,240 0 98,240
Ox=AMZE BZH HHIXA 98,240,000& 98,240




SN E5EMD
BH: BO| U SEHF X4
CHol: & A2 TR 2 s (£r9): & 2
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
< 22,495
Al 75,745
LS PR AS 21,153 70,000 N48,847
& 6,345
Al 14,808
402 RIZ2H X =0 21,158 70,000 A48,847
& 6,345
Al 14,808
01 QIZIXI=22 X 21,153 70,000 AN48,847
OLSA A A 21,153,000& 21,153
< 6,345
Al 14,808
S=s=3 ASAE A 7,200 0 7,200
& 3,600
Al 3,600
402 QIZ2FX =0 7,200 0 7,200
& 3,600
Al 3,600
01 BI2ZEXI=282 =X 7,200 0 7,200
OU=2F ASAE A 7,200,000 7,200
= 3,600
Al 3,600
ot - Xl BENA HHAZ K& 18,020 0 18,020
& 5,406
Al 12,614
307 gQiz2tol™ 18,020 0 18,020
& 5,406
Al 12,614
02 BIZHEANE X 18,020 0 18,020
Ot - WAl SEIMH Hediza XA
18,020,000& 18,020
< 5,406
Al 12,614
MNeZE SO0 X 4,800 0 4,800
& 1,920
Al 2,880




C

z
=

J 0B ofr
=9 My
0
rr

0N O
o
oY
Pl
0x

0
02
Ju
9 1

SN HH G (EH) - MBAY - BYS Ak ais s
Ofl &4 4
402 BIZ2HX =0l 4,800 0 4,800
& 1,920
Al 2,880
01 QtR=8=x 4,800 0 4,800
OSHMEEel THoH 4,800,000& 4,800
& 1,920
Al 2,880
A0 Ol =&RA At 90,950 0 90,950
Il 51,055
& 13,780
Al 26,115
301 YotEa= 2,000 0 2,000
10 BAIAHIE & 2,000 0 2,000
O21J101 = M o &t
2,000,000& 2,000
307 glztold 88,950 0 88,950
Il 51,055
& 13,780
Al 24,115
02 QltF&E=X 88,950 0 88,950
OHNE F=H| XA (6,890%) 68,900, 000& 68,900
I 31,005
< 13,780
Al 24,115
OO0I&=XH JHH 2eldl K&
20,050, 000& 20,050
Il 20,050
ASAE 2L X2 129,665 71,237 58,428
Il 58,486
& 21,384
Al 49,795
206 M=l 129,665 71,237 58,428
Il 58,486
= 21,384
Al 49,795
01 MZHl 129,665 71,237 58,428




2N SEMD
Hy: BO| Y= SEHY X4
ol B P YAL S Rk
SN -EHH . (B) - MPAY - BE2 Ofl AF o4 giﬂgfﬁ HRE2
OIS FA - 2HAE 99,905,0002! 99,905
o) 58,486
= 12,420
Al 28,999
OB4SIE A=oE X 29,760,0002! 29,760
= 8,964
Al 20,796
Sl S 35 22,800 0 22,800
= 9,800
Al 13,000
402 QIEXE01M 22,800 0 22,800
= 9,800
Al 13,000
01 QtR=Ex 22,800 0 22,800
OSLTHAHOI S RAKO] AAEY &5
2,400,000& 2,400
= 900
Al 1,500
ORAYZZON LAY 7,200,000& 7,200
= 2,700
Al 4,500
OMBASIH BIIME MetE BA A
3,200,000& 3,200
= 1,200
Al 2,000
OSOIE DIMS HY 28 JI223 Al
10,000,000& 10,000
= 5,000
Al 5,000
p/EEI=E -3 52,451 0 52,451
| 26,225
& 13,113
Al 13,113
206 = Hl 52,451 0 52,451
Il 26,225
= 13,113
Al 13,113




SM: sEAD
Mo BO| U= SESY X4
ool SAA WA CLRE
o - o HAc
M- F= - S2(3H) - MRAY - BES 0l &k 24 e HlnE2
01 Mzl 52,451 0 52,451
OBSYHME MEH| 52,451,008 52,451
ol 26,225
= 13,113
Al 13,113
EAE A JlBreE 178,500 85,200 93,300
206 MEHl 6,000 0 6,000
EETI 6,000 0 6,000
0g20l By N 6,000, 0002 6,000
402 SIZHXHZOIH 172,500 85,200 87,300
01 SIAR=EEE 172,500 85,200 87,300
ORSHUAHYI| N 27,500,000 27,500
OYHXALB A0 AEHL - B-I| X
2 45,000,002 45,000
OMHE ZEAMYLRIX HEXS
30,000,000 30,000
OYHIALE M4 SR X2 20,000,002 20,000
OAEHEI| X 30,000,000 30,000
OANEXSMH FS=0t N 20,000,000 20,000
ZAS M 2 1,000 500 500
01 YerEaz 1,000 500 500
10 BANHIZAS 1,000 500 500
OSNS AMSO0F DHAHIBY
1,000,0002 1,000
BoLo A Q12| K 3,600 14,592 ~10,992
301 YetEaz 3,600 14,592 £10,992
CEEPEEEETES 3,600 14,592 £10,992
OTA+OIN BoBS Fei
30000024 +122 3,600
RS2 25 X2 2,350 1,700 650
206 Rl 1,600 950 650
01 Mzl 1,600 950 650
ORIISS 25 WY 1,000,000% 1,000
ORJIISE 28 *B7Y 600,000 600
01 YerBAZ 750 750 0
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SN EEAD
HE: BO| U= sEHY X4
ol EAYW 2 (5l &2
- o MG
SN HY . C(EH) - MRAY - BYS Ao il i~ o Rz
12 JlErS A= 750 750 0
oRJIEE AR N 750,0002! 750
I EFTE NG 50,000 39,000 1,000
206 M2l 36,000 28,000 8,000
EET 36,000 28,000 8,000
O = MY X 2D Yo 47
10,000, 0002! 10,000
ONEHEY ASLAS oY k!
10,000,000%! 10,000
O®IASIt SOIK &AL XI® 5,000,000 5,000
OINSTCASOIS 2S% 7Y X
5,000,000 5,000
o=zMde HAE WETY 6,000,000 6,000
301 LerBA3 2,000 1,000 1,000
10 BAAHIZAS 2,000 1,000 1,000
OJEYS DT FAK AY2L
1,000,000 1,000
ONETLASOIS YADS b Ayl
24 1,000,0002! 1,000
405 X+orE S| 12,000 10,000 2,000
01 KMUSEHSH 12,000 10,000 2,000
OU=RX SAASI| 7Y 12,000,000%! 12,000
YE - A2 PEWLAL 135,000 0 135,000
402 QIR+ OIF 135,000 0 135,000
NEEEEES 135,000 0 135,000
OXE IRHOIE 2 X2 10,000, 0002! 10,000
OYEIES Y- )| X 20,000,000 20,000
OZAAIE BIIAIE X2 17,500, 00021 17,500
O}ESL DA X 30,000,0008! 30,000
O}=2LHal ZIIANE X 12,500,0008 12,500
OYE XY H=8 M2 XY 15,000,0002 15,000
ozg K012 32 X 20,000,000 20,000
OXB AXT(HZE) X 10,000,000 10,000
HADENA ALY 78,000 38,000 40,000
307 QI2HO0IF 3,000 3,000 0
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SH: sEAD
HE: BO| U= sEHY X4
Sl =AML (£ &)
= 5 — FSIE =
N33 S2(3H) - MEAMY - BES Ol &+ 9K Ol AF o8 HwsZ
03 MBS H X3 3,000 3,000 0
OUESES ABAXE BA ASSI)
DS L #AH N 3,000, 0002 3,000
402 QIR+ OIF 75,000 35,000 40,000
01 PRANEExE 75,000 35,000 40,000
o4 EHHZ X 10,000,000 10,000
OXA HERK X2 15,000,000 15,000
ORA HYEX LYHY X2
10,000,000 10,000
OU4EHANH RHESLO0| X
15,000,002 15,000
OLHEXI| 0/8 HA HAS 4 X2
25,000,000 25,000
sesdc S4 178,000 209,500 A31,500
201 gr2g| 7,000 7,000 0
01 AF=aelt] 2,000 2,000 0
CHIEIRS=Y] 2,000, 0002 2,000
03 A2 Y] 5,000 5,000 0
OSMSEUSHE A 5,000, 0002 5,000
206 Tl 52,000 51,000 1,000
01 W=t 52,000 51,000 1,000
OBLLUME ZEFAUM X 45,000,0008 45,000
ofABEUC A 27
7,000,0002 7,000
301 LB 2,000 1,500 500
10 BAAHIZ A3 2,000 1,500 500
OBMES SHUC HAIS BAT AHIBA
2,000,00024 2,000
307 eI2tolH 7,000 20,000 13,000
03 MESHBEZ 7,000 5,000 2,000
OUBL=Es ABAXS SESI DT
Bl 2 A X 2,000, 0002 2,000
OB LBBIANHAIX R DEY ABER A
S5 DRY L #A XS 5,000, 0002 5,000
402 QIR+ OIF 110,000 130,000 20,000
N EEES 110,000 130,000 220,000
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A SEMD
M HHRIZH (s54)
&Rl el 2| (el &)
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
ol 2| 116,668 167,493 250,825
el | 116,668 109,893 6,775
101 el 107,128 100,573 6,555
2 =g 75,216 70,318 4,898
OxUIR=H 75,216
=bg 9,796 x 1H +40A| 2tx 12 4,703
SLr= 8,312 «6H «40A| 2t+ 123 23,939
o7g 7,457 *3H +40A| 2t+ 123 10,739
=8z 6,682 *3H «40A| 2tx 123 9,623
= XIS At 26,212
21230/ &t 7,801 & «7H~40A| 2t+ 12 26,212
LIAHSZZ2 X E = 31,912 30,255 1,657
OsX datze| (1Y) 13,840
SR 32,0003 1 »255 8,160
cal= 8,160,000& *4/12 2,720
o2 IS 8,160, 000& *10% 816
ocxrssdsd 32,0003 »1H«52¢ 1,664
SRt NI 32,0003 x1H+15 480
O A2 (1Y) 18,072
=JlE2s 41,7803 x1H 255 10,654
SE G 10,654,000 *4/12 3,552
o2EIHeZ 10,654,000 *10% 1,066
ocrandsrd 41,780 x1H 52 2,173
o AHX=+E 41,7803 x1H 15 627
203 HRFL&H 9,540 9,320 220
01 JIZ2ILRFAH 3,300 3,000 300
Osllsdy 29 3,300,000& 3,300
02 ZEBINHRFAH 2,040 2,120 A80
OXJ A& E HH| 40,0003 51 2,040
04 REA2EHRFIH 4,200 4,200 0
OFAEYE =X 350,000& 123 4,200
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SN EEAD
HE: #H2AAY (SEAD)
Sl Jl2 | (St5: &8 2)
_ _ HE T
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ol Ak O Blusz
T 100, 884 95,824 5,060
o= 2| 100, 884 95,824 5,060
201 Lpr2 Yyl 50,484 45,424 5,060
01 ARl 26,484 45,424 £18,940
CHEER=1i] 5,000,0002! 5,000
CEEERS 1,600, 0002 11,600
oz 2,000,000 2,000
oYxz 7,884,0002 7,884
2 ZT2YH 24,000 0 24,000
OZZRI YA 22,000,0002 22,000
oo 2| 2,000,000 2,000
202 Ofl 50,400 50,400 0
01 =UotH 50,400 50,400 0
ORLIEF O] 50,400,002 50,400
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